< Events / GeV >

(obs-bkg)

< Events / GeV >

(obs-bkg)

35.9 bt (13 Tev)
1 T T T
103ECMS $ Data — XX LH (0.9 TeV)
e/utjets =
102 0t,0W QCD ==+ Xy, X, RH (1.2 TeV)
1b, 24) [l ewk Bkg uncertainty
10 TOP
107t
1072
107
2
£ 2r ]
z t |
5 0—|d-l—‘-'"-'"-|"'-ﬂ-—-—'|-".-|'n.—"-'|-r
[T |
£-2 i
0 200 400 600 800 1000
min[M(l,b)] [GeV]
35.9 b (13 TeV)
T T T LI A B
108CMS ¢ Data — XgXgs LH (0.9 TeV)
e/utjets -
102 Ot >1 W L QCD ==~ Xg:Xgq RH (12 TeV)
1b, 24j [ ewk Bkg uncertainty
S |
£-2 -
0 200 400 600 800 1000

min[M(,b)] [GeV]

< Events / GeV >

(obs-bkg)

< Events / GeV >

(obs-bkg)

35.9 fb! (13 TeV)
LN L L B
+ Data

QCD

CMS
e/utjets

— Xg5Xs3 LH (0.9 TeV)
0t,0W %

- == XggXs/3 RH (1.2 TeV)

@, 220, 24] B Ewk Bkg uncertainty
2%
TOP

]

2
£ 2 7
S ,
g O .
o
5-2 .
0 200 400 600 800 1000
min[M(l,b)] [GeV]
35.9 fb™ (13 TeV)
T T T LI A B
102ECMS $ Data — XgXs LH (0.9 Tev)_]
e/utjets — E
0t LW B EWK ---X,X,, RH (1.2 TeV) 3
10 . 22 b, 24 TOP Bkg uncertainty
107 =
1072 e
0% 0 T E
n n n | n n n | n n n | n n n | n n n 1
S j
52 -
0 200 400 600 800 1000

min[M(l,b)] [GeV]



